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Notes: 
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Alternative 
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M1: Uses ( ) ( )( )their cos their arg isin their argz z= +  to find the complex number z or values for a or b. 

As long as the modulus has changed. 

A1: Correct complex number or values for a and b. 
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M1: Uses the argument of z find an equation in a and b . Then solve simultaneously to find a value for a or b. 

As long as 
2 2 59049a b+   

A1: Correct complex number or values for a and b. 

Note there are other correct answers 
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2 awrt 2.98 awrt 0.314iz = +  

3 awrt 2.23 awrt 2.01iz = +  

4 awrt 0.624 awrt 2.93 iz = +  

5 awrt 1.22 awrt 2.74 iz = − +  
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7 awrt 2.98 awrt 0.314 iz = − + −  

8 awrt 2.23 awrt 2.01iz = − + −  

9 awrt 0.624 awrt 2.93 iz = − + −  

10 awrt 1.22 awrt 2.74 iz = + −  

 


